[ Efficiency vs vertpos |

= 0.01:
) 009F- 4o filneee
g E
0.008F----1----fif-----
(8] = 4
DO0TE e it
O F :
®.006f -1+ L
0.005F++++]+++- -
0.004F -+ I ‘
0.003F++++{-+++- I
0.002F -+ -
0.001E- - fiheeee-
e
o 10F Hr- ......! Lo
T E
o 1.05F1f--4---|-------
1;* F PP

=
2
N
[N
o
iR

Efficiend

OO0
10000
1111
3333
AR~
T T

~ 0.0

9,000 -++---ieereeeedennent
" : : :
.00 -+ b eeeeedeeenen
> . . .
3 P
D 007+ e heeeeeedeee et
D006
o : : :
0.00BF--++oseieeeeesdenenent
0.004F-+++e-beeeifeend
10 ¥ R :
0.002f-+++-+3-wereeioeeesiiines

0.00F++++++=wme -

........................

........................

.................

Ols:llll!llll!l

=1 =

©  12F-c--- Peeeeeas i

©
LIEr-rererheereanis
1;""""""“‘-51?-

[ Efficiency vs. sim PV z |

10 20 30
TP vert z (cm)

~ 0.07
>
20.009
5.008
$.007
>
_a_‘:j).oos
9.005
[J]
0.004
0.003
0.002
0.001

CIII.
LAE--
1.2f

Ratio

iy

4 6 8 10
Sim. PV z (cm)




	Contents
	Page 1


